	
	
	

	Solve for x using the quadratic equation

1.  x2 − 5x −14 = 0
	2.
	2x2 + 13= 12x−5

	A =
	B=
	C=
	A =
	B=
	C=
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	3.   2x2 + x = 5
	
	4.       x2 = 2x−5
	

	A =
	B=
	C=
	A =
	B=
	C=


Discriminant: b2 − 4ac

**Tells how many solutions a quadratic has.

	If
	If
	If

	b2 − 4ac>0
	b2 − 4ac= 0
	b2 − 4ac< 0

	
	
	

	______ REAL solutions
	______ REAL solution
	_______Imaginary solutions

	____ x-intercept(s)
	______ x-intercept(s)
	______ x-intercept(s)
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Find the discriminant. Give the number and types of solutions.

5.) 5x2 + 10x + 5 = 0
6.) x2 − 6x+ 10 = 0
7.) x2 − 6x+ 8 = 0

Solve for x by completing the square.
	8)  v 2  − 6v = −91
	9)  n2  = 18n + 40


10)  5k 2  = 60 − 20k
11)  6x 2  − 48 = −12x

12)  8x 2  + 16x = 42
13)  9n2  + 79 = −18n

14)  2a2  = −6 + 8a
15)  2x 2  − 5x + 67 = 0

16)  4n2  + 4n + 36 = 0
18)  7k 2  − 16k + 100 = 0

18)  10 p 2  + 4 p + 77 = 9
19)  3x 2  = −4 + 8x

20)
p 2  + 14 p − 38 = 0

21)  v 2  + 6v − 59 = 0

22)  a2  + 14a − 51 = 0
23)
x 2  − 12x + 11 = 0

24)x 2  + 6x + 8 = 0
25)  n2  − 2n − 3 = 0

26)x 2  + 14x − 15 = 0
27)  k 2  − 12k + 23 = 0

28)  r 2  − 4r − 91 = 7
29)
x 2  − 10x + 26 = 8

